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�4 L4 ??4 =5 F4 >5 D4 7> 64 ?4EL ?D< 5?< 7< F5?L => 
4,5 <?D4. ?5F =4 744. &>7 44 >=4 ?D54 EF46 ?O ?4 E> 5>= 
>7 =5= =O= L4D <7 D4E ??46 ?5= =OE 65 M5EF6. �> GF< 
<<? ?< 4D4 ?5F <=> 7> G<E ?5= =O5 6G? >4 =O <7 65D 74-
?< D4E >4 ?5= =GN ?4 6G. �?4 =5 F4 >< ?5 ?4, >4> 5>?L-
L>= >> F5?. �> ?> EF5 ?5= => �5< ?O EF4 ?4 >E FO 64FL. 
�4 7O, 6O E> 4O <7 6G? >4 =>6, E>7 44 ?< 4F <> ED5 DG, 
4 6> 4O =O5 ?4 DO, >E FO 64O < ?D5 6D4 M4 OEL 6 >4? ?< 
(>>= 45 =E< DG OEL), 6O ?4 ?< =4 �5< ?N ?5D 6O << 
>5<?L =O << 4>6 4O <<.

�4 F65D 456 L4O ??4 =5 F4 ?> >DO ?4EL 6?4 4< =4 << 
< 6O EFG ?4 << 4 E?5 44 << 5GD =>= 6G? >4 =< G5 E>>= 
N=>E F<. �?4 4< =O 74 ?>? =O ?<EL 4>6 45 6>= 6> 4>=, 
?D5 6D4 M4 OEL 6 >>5 4 =< G5 E><5 54E E5= =O. &4> >5 D4-
7> 64? EO �< D> 6>= >>5 4=. �4 => 6D5 <5= => E ?> O6-
?5 =< 5< >>5 4 =4 6>7 =<> ?4 < EG L4. � F> 6D5 <O EG L4 
5O ?4 >4 =<< 7< 74=F E><< <4 F5 D< >><, >> F> DO= GG5-
=O5 =4 7O 64 NF �4= 75O, 4 54< =O= 4D56 =<= >>5 4= 
=4 7O 64 NF &5 F<E. �>> ?> 200 <?=. ?5F =4 744 �4=-
75O D4E >> ?> ?4EL. '4E F< �4= 75< EF4 ?< >F> 46< 74FL-
EO 4DG7 >F 4DG 74 4 4D5= D> 64FL. � D5 7G?L F4 F5 
4D5= D4 =4 �5< ?5 >5 D4 7> 64 ?>EL 5 <4 F5 D< >>6 
(>>= F< =5= F>6) < 65 ?< >>5 <=> 65 EF 6> <E >E >>?-
>>6 4 >E F D> 6>6. �E5, GF> >>DG 64 5F <4 F5 D< >< < 
>E F D> 64, 4 �< D> 6>= >>5 4=.

'G5 =O5 ?>?4 74 NF, GF> 6>7 D4EF �<D>6>7> >>5-
4 =4 =5 <5=55 4 <?D4. ?5F. &OEO G5 ?5 F<O << 57> 
?>?>? =O ?< 7>DO G<5 <EF>G =< ><, >>F> DO5 E>G< ?<EL 
<7 >EFO 64N M5= �5<?<.

�>44 �<D>6>7> >>5 4 =4 E>45D 6<F <=> 7<5 ?D<-
D>4 =O5 E<<< G5 E><5 M?5<5= FO. &4>>5 5>74F EF6> 

��� �� ���

�4=> 44==OE

445

�$��$ ��&�$����

>>54= =4>> ?<? 74 <<? ?<> =O ?5F. %6>= 6>?44 6 
E>EF46 >>5 4 =< G5 E>>= 6>4O 6=> E< ?< <765D 65 =<O 
6G? >4 =>6 < F4O =<5 ?L4>6, 4>64< < 65FDO.

«�>DE>4O 6>44» E>?> => 64 F>-7>DL >4O =4 6>GE. 
%>?< 6 <>D E>GN 6>4G 6O=>EOF D5><, 6O5D4 EO64NF 
?>46>4=O5 6G? >4 =O 4 ?>M F> <G �<D>6>= >>54= 
=<>>7 44 =5 EF4 =5F ?D5E =O<.

*  �<D>6>= >>54= ?>>DO 64 5F 71% 75< =>= 
?> 65DE  => EF<

*  �5N5< �<D>6>7> >>5 4 =4 E>EF4 6?O 5F >>>?> 
1368 <?=. >G5. ><.

*  �E?< 5O �5<?O 5O?4 7?44 >>=, >4> <OG, �<D>6>= 
>>54= D4EF5> EO 5O ?> =5= D>6 =O< E?>5< F>? M<-
=>= 2,7 ><.

*  � �<D>6>< >>5 4 =5 E>45D 6<F EO 97% <<D> 6> 7> 
74?4 E4 6>4O.
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�D5=D <4 F5 D< >>6 ?D> 4>? 64 5F EO < E5= G4E. �> 
MF>F ?D> F5EE <45F F4> <54 ?5= =>, GF> 74 6EN <E F>-
D<N G5 ?> 65 G5 EF 64 «6=5L =>EFL» �5< ?< ?> GF< =5 
<7 <5 =< ?4EL. �4 F5 D< >< < F5 ?< >E F D> 6>6 «D47 45-
?< ?<» �< D> 6>= >>5 4=. -F> ?> 76> ?< ?> ?N 4O< D47-
7D4 =< G<FL �< D> 6>= >>5 4= =4 4 G4E F<, =4 764= =O5 

&< E<<, �F ?4= F< G5 E><<, �= 4<= E><< < %5 65D-
=O< �5 4> 6< FO< >>5 4 =4 <<. 

�5 ?5 =<5 =4 G5 FO D5 >>5 4 =4 GE?>6 => 4 654L 
>=< ?D54 EF46 ?O NF E> 5>= 54< =>5 F5 ?>5. �= F5-
D5E =>, GF> ?D< 6OG =4O G65 FD4 4< F<O D47 45 ?4 
�< D> 6> 7> >>5 4 =4 =4 4 G4E F< 6>7 =<> ?4 ED46 =<-
F5?L => =5 446 =>, >>> ?> 150 ?5F =4 744. �> MF> 7> 

��� �� ���
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�F ?4= F< G5 E><= >>5 4= 45 ?< ?< =4 %5 65D =O= < 
.6 =O= >>5 4 =O, &< E<= >>5 4= =4 7O 64 ?< �4 ?44-
=O<, 4 %5 65D =O= �5 4> 6< FO= >>5 4= 6> >5 M5 =5 
EG< F4 ?< >>54 =><. 

�>DO 4 MF> G4EF< �<D>6>7> >>5 4 =4, 644N-
M<5 EO 6 EGLG <?< >F45 ?5= =O5 ?>4 6>4 =O << 6>76O-
L5= => EFO << <?< >EFD> 64 <<. �D4 =< FO <>D5= GE?>6-

=O. �> <>DO G4EF> >F?< G4 NF EO >F >>5 4 =4 ED54 =5= 
F5< ?5 D4 FG D>= 6>4O, GD>6 =5< E>?5 => EF<, 4 F4>65 
<5=L L5= 7?G 5< =>=. 'E?> 6<O <>DO < >>5 4 =4 D47 ?<G-
=O, < ?>M F> <G >F?< G4 NF EO <E >5< F4 F5 ?< 4 6<6>F-
=O5 < D4EF5 =<O. � �< D> 6>< >>5 4 =5 =4 EG< FO 64 NF 
54 <> DO. �>D4 <= =O5 <> DO (=4 ?D< <5D, �D4 6<=-
E>>5 <> D5) < <56 >E F D>6 =O5 <> DO (.6 =>-�< F4=-

E>>5 <> D5) =4 ?DO <GN 644 NF EO 6 >>5-
4=. � 6=GF D5= =<5 <> DO, F4 ><5 >4> 
�4? F<= E>>5 <?< %D5 4< 75< =>5, E> >5 M4-
NF EO E >>54 =>< G5 D57 >>D4 <= =O5 <> DO 
<?< G5 D57 ?D> ?< 6O 4 G7 ><5 6>4 =O5 
?D> EFD4= EF64, E> 54< =O N M<5 E<56 =O5 
G4E F< �< D> 6> 7> >>5 4 =4.

�>GF< 6E5 <>DO (>D><5 �4E?<=-
E>> 7>, �D4?L E>> 7> < �5DF6>7>) E>5 4<-
=O NF EO E >>5 4 =><. �4?D< <5D, N6=O5 
<>DO $>E E<< 4 '5D =>5 < �7>6 E>>5 4 
?D< =44 ?5 64F 54E E5= =G �F?4= F< G5-
E>> 7> >>5 4 =4. -F> <>65F ?>>4 74 FL EO 
=565 D> OF =O< 4 654L 4> �F?4= F< >< 
>G5=L 44?5 >>. �>, ?>E<> FD56 =4 >4DFG, 
<O ?>= <5<, GF> MF> 45= EF6< F5?L => 
F4>. �7>6 E>>5 < '5D =>5 <>DO, 4 F4>65 
-75= E>>5, �>=< G5 E>>5, �4D< 4F< G5-
E>>5, �<7G D<= E>>5, &<D D5= E>>5 < 
�D4<>D=>5 E>5 4< =5 =O <564G E>5>= < 
6E> 4OF 6 54E E5== %D5 4< 75< => 7> <>DO 
(E<. >4DFG 3)1. 

'5D57 �<5D4? F4D E><= ?D> ?<6 %D5-
4< 75< =>5 <>D5 E>5 4< =5 => E �F?4=-
F< >>=, < 7=4 G<F, 6E5 MF< <>DO ?D<-
=44 ?5 64F 54E E5= =G �F?4= F< G5 E>> 7> 
>>5 4 =4.

�E5 <>DO, E>5 4< =5= =O5 E >>5 4 =><, 
E>EF4 6?O NF >>5 4 =< G5 E><= 54E E5== 
44= => 7> >>5 4 =4.

�4?<6 4 MF> G7?G 5?5 =<5 6 55D5 7>-
6>= ?<=<<, E L<D> ><< GEFL5<. '4EF> 
D47 =< F4 <564G >>D4 <= =O< <>D5< < 
74?< 6>< E6> 4<F EO F>?L >> > =47 64 =<N.

1 �45EL < 44?55 >4DFO E<. 6 ?D<?>65=<< 6 >>=F5 
>=<7<.
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�>744 <O EF><< =4 55D5 7G <>DO, >F65F =4 MF>F 
6>?D>E >465F EO >G5 6<4 =O< 4 EGL4 >>= G4 5F EO 
F4<, 745 =4G< =4 5F EO 6>44. �> 4646 4O 6 EGF>< GD>-
65=L �<D>6>7> >>5 4 =4 <5=O 5F EO 4 6>44 «=4EFG-
?4 5F» =4 EGLG 6> 6D5<O ?D< ?< 6>6 < «>FEFG ?4 5F» 
E >F?< 6><. �D< ?< 64< < >F?< 64< �<D>6>= >>54= 
«>5O 74=» ?D< FO 65 =<N �G=O. �>744 �G=4 ?D> E>-
4<F =44 >?D5 45 ?5= =>= F>G >>=, F4< ?D> <E E> 4<F 
?D< ?<6 4 ?>4 =O F<5 6>4O. �>>< 44O MFG F>G>G, 
�G=4 «>F?G E>4 5F» 6>4G 4 F4> =4G< =4 5F EO >F?<6. 
�D4 =< F4 6>4O ?D< >F?< 65 =47O 64 5F EO <4?>= 
6>4>= 4 MF4 7D4 =< F4 < >5>7 =4 G5 =4 =4 6E5E >4D-
F4E >4> 55D5 7> 64O ?<=<O.

�> 74>4= G< 64 5F EO ?< EGL4 =4 55D5 7> 6>= 
?<=<<? �4 >4D F4E 6<4=>, GF> 6E5 <4F5 D< >< 
>>4= <?O 5F E65F ?>-7>?G 54O ?>?> E4 D47 =>= L<D<-
=O. -F> ?>4 6>4 =>5 ?D> 4>? 65 =<5 EGL< 4 <4F5-

D< >> 6O= L5?LD <?< <4F5 D< >> 64O >F<5?L. 
18420 FOE. ?5F =4744 GD> 65=L �<D>6>7> >>5-
4 =4 5O? =<65, < <4F5 D< >> 6O5 L5?L DO 5O?< 
G4EFLN EGL<. % =4G4 ?>< 6E5 <<D => 7> ?>F5 ??5-
=<O ?L4O D4EF4O ?<, >>54= ?>4 =O? EO < 74F> ?<? 
L5?L DO.

,5?LD 4 MF> 5M5 =5 >F>DO FO= >>54=. 'D>-
65=L G>?> =4 L5?L D4 >F 5 4> 30 7D4 4G E>6, 4 7?G 5<-
=4 6>4O D54>> ?D5 6O L4 5F 200 <. ,5?LD 4 E4<4O 
«??> 4> D>4 =4O» G4EFL >>5 4 =4. %>? =5G =O5 ?GG< 
E>D> L> >E65 M4 NF L5?L D> 6GN >F<5?L, D5>< 6O=>-
EOF EN44 <=>7> ?<F4 F5?L =OE 65M5EF6, < ?>F> <G 
6<7=L =4 L5?L D5 ><?<F >?N G><. �4 L5?L D5 7>D47-
4> 5>?L L5 6<4>6 6<6>F =OE, G5< 6 >F>DO F>< <>D5, 
745 GE?> 6<O =5 F4> 5?4 7> ?D< OF =O.

&4<, 745 7?G 5< =4 >>5 4 =4 D57>> G65 ?< G< 64 5F-
EO, =4G< =4 5F EO <4F5 D< >> 6O= E>?>=. �?G 5< =4 
>>5 4 =4 =4 <4F5 D< >> 6>< E>?> =5 4>EF< 74 5F 3000 <. 

��� �� ���

%&$����� ������'�%���� ���

EGL4

>4=L>=

?>46>4=O= 
7>D=O= ED555F

6G?>4=<G5E><= 
>EFD>6

?>46>4=O= 
6G?>4=

>>54=<G5E>4O 
6?44<=4

<4F5D<>>6O= 
?>4N5<

<4F5D<>>6O= 
(>>=F<=5=F4?L=O=) 

L5?LD

<4F5D<>>6O= 
E>?>=

>EFD>64



�F <4F5 D< >4 ?> L5?L DG < <4F5 D< >> 6> <G E>?> =G 
E=> EOF EO 6 >>54= >E44>G =O5 ?>D> 4O. %>4 ??< 64 OEL 
G ?>4 => 6<O E>?> =4, >=< >5D4 7G NF <4F5 D< >> 6O= 
?>4N5<. �4 MF>< <5EF5 7?G 5< =4 >>5 4 =4 G<5 =L L4-
5F EO. �4?55 7?G 5< =4 >>5 4 =4 746< E<F >F ED55 F>6 
?>4 6>4 =OE 7>D < >>5 4 =< G5 E><E 6?4 4<=.

�4F5D<>>6O= L5?LD < E>?>= ?D> D5 74 NF 7?G-
5> ><5 >4=L> =O. -F> 4D56 =<5 DGE?4 D5>, 74F>-
??5= =O5 ?D< ?>4 =O F<< >>5 4 =4, <?< G7?G 5?5 =<O, 
?D> F> G5= =O5 D5>4 <<, 6?4 44N M< << 6 >>54=.

�$' �� �� $�& ���/ � �$� $� ��
�>44, >4> E<<< G5 E><= M?5<5=F, <>65F =4E> 4<FL-
EO 6 FD5E E>EF>O =<OE 4 6<4 >>< (6>44), F65D 4>< 
<?< >D< EF4? ?< G5 E>>< (?54, E=57) < 747> >5 D47-
=>< (?4D). �>4 6>7 45= EF6< 5< E>? =5G => 7> F5??4 
6>44 <E?4 DO 5F EO E ?>65DE => EF< �<D>6>7> >>5 4-
=4 < ?>4 =< <4 5F EO 6 4F<> ED5 DG. �45EL ?4D >EFO-

64 5F, >>= 45= E< DG 5F EO < 4>6 4O << ?D> ?< 64 5F EO 
=4 75<?N. %>?<, E>45D 64 M<5EO 6 <>D E>>= 6>45, 
=5 <E?4 DO NF EO. �>M F> <G > >5?4 >4< ?>4 =< <4 5F EO 
?D5E =O= ?4D, < 6>44, 6O?4 44N M4O =4 75<?N, 4 
F>65 ?D5E =4O.

�>64< G4M5 ?LNF =44 EGL5=, >E> 55= => 
=44 6>76O L5= => EFO <<. �45EL 6>7 4GE E>?>4 =55, 
< ?4D 5OEFD55 ?D5 6D4 M4 5F EO 6 6>4G, 4 F4<, 
745 F5< ?5 D4 FG D4 6>7 4G E4 =<65 0 °% 4 6 E=57. 
�5<?O 6?< FO 64 5F 6>4G, =4>4 ??< 64O 55 6 ?>4 75<-
=OE 6>4> =>E =OE E?>OE. %>5D4= =4O 6>44 6OE>-
4<F =4 ?>65DE =>EFL D>4 =< >4 <<. -F< <EF>G =< >< 
E?< 64 NF EO 6 DGGL<, 4 DGGL< =5EGF E6>< 6>4O 6 
D5><. �E5 D5>< 6?4 44 NF 6 <>DO < >>5 4 =O, ?> 
?GF< <E?4 DOO 6>4G E> E6><E ?>65DE => EF5=. &4> 
E>65D L4 5F EO >DG 7> 6> D>F 6>4O 6 ?D< D> 45, 5?4-
7> 44 DO >>F> D> <G EGM5 EF6G 5F 6<7=L =4 =4L5= 
??4 =5 F5.
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>5?4>4

>5?4>4

>E44><

DGGL< < D5><<E?4D5=<5 6>4O 
E ?>65DE=>EF< 
�<D>6>7> >>54=4



'G5 =O5 D47 45 ?< ?< 6E5 6<6>5 =4 ??4 =5 F5 =4 7DG? ?O 
?> D>4 EF65= =O< ?D<7 =4 >4<. �OFL E4<OE 5>?L L<E 
7DG?? =47O 64 NF EO F4D EF64. � F4D EF6G 54> F5-
D<= (?D> >4 D<> F>6) >F=> EOF <<>D> E>> ?< G5 E><5, 
>4> ?D4 6< ?> >4=> >?5 F>G =O5, >D74 =<7 <O, 557 O4D4 
6 >?5F >4E. �D><5 E>5 EF65= => 54> F5 D<= (EF4D< ?>-

>>> ><, 6<5D<> =O, E?< D<? ?O < F.4), > MF><G F4D EF6G 
G4EF> >F=> EOF E<=5- 75 ?5 =O5 6>4> D> E?< (F<4 =5<) 4 
?D< << F<6 =O5 >4=> >?5 F>G =O5 < <=> 7> >?5 F>G =O5 
>D74 =<7 <O, 5?<7 ><5 D4EF5 =<O<.

� F4D EF6> ?D> F< EF>6 (MG>4 D<> F>6) 6>?N-
G4 NF <<>D> E>> ?< G5 E><5, >5OG => >4=> >?5 F>G =O5, 

>D74 =<7 <O, <<5N M<5 O4D4 6 >?5F >4E. %4<O5 
<765EF =O5 ?D> F< EFO 4 4<4 F> <5< (4<4 F> << G5-

E><5 6>4> D> E?<), ?5D< 4< =5< < M67?5 => 6O5, < 4DG 7<5 
67G F< >> 6O5 6>4> D> E?<.

� F4D EF6G D4EF5 =<= >F=> EOF EO 6 >E=>6 =>< 
<=> 7> >?5 F>G =O5 >D74 =<7 <O, =5 E?> E>5 =O5 E4<>-
EF>O F5?L => ?5D5 46< 74FL EO. � >4=> >?5 F>G =O< D4EF5-
=<O<, ?5D5 46< 74N M<< EO E ?><> MLN 67G F< >>6, 
>F=> E<F EO, =4?D< <5D, <<>D> E>> ?< G5 E>4O 6>4> D>E?L 
E?4 << 4> <> =4 44. $4EF5 =<O E ?><> MLN D>F>E <= F5 74, 
<E?>?L 7GO M=5D 7<N E>? =5G =OE ?GG5=, ?D5 >5 D4 7> 6O-
64 NF =5>D 74 =< G5 E><5 65M5 EF64 6 >D74 =< G5 E><5.
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&4D EF6> 7D< 5>6 E>EF4 6?O NF >D74 =<7 <O, =5 
O6?ONM<5EO =< 6<6>F =O <<, =< D4EF5 =<O << 4 MF>, 
=4?D< <5D, ??5 E5=L, EN5 4>5 =O5 < O4>6<FO5 7D<5O.

%4<>5 ?D54 EF4 6< F5?L =>5 F4D EF6> 4 F4D EF6> 
6<6>F =OE. %N44 6E> 4OF 6E5 >D74 =<7 <O, ?<F4N-
M<5 EO 7>F> 6O << >D74 =< G5 E>< << E>5 4< =5 =<O << 
(D4EF5 =<O << <?< 4DG 7< << 6<6>F =O <<). � 6<6>F-
=O< >F=> EOF EO < >4=> >?5 F>G =O5 4<55O, <=DG 7>-

D<< < E>? =5G =< ><, < >7D>< =O5 ><FO <?< <54 65 4<. 
'5?> 65> F>65 6E> 4<F 6 F4D EF6> 6<6>F =OE.

%?5 4GN M4O EFG ?5=L >?4E E< D< >4 F<< 4 F<?O 
(G D4EF5 =<= 4 >F45 ?O).

�<7=L =4 �5<?5 74D> 4< ?4EL 6 >>5 4 =5. �>M F>-
<G 6 6>45 6EFD5 G4 NF EO ?D54 EF4 6< F5 ?< 6E5E ?OF< 
F4DEF6 6<6>= ?D< D> 4O, 6E5E F<?>6 6<6>F =OE < 
<=> 7<E >F45 ?>6 D4EF5 =<=. � ?D> F5E E5 M6> ?N F<< 
<=> 7<5 <7 =<E ?>>< =G ?< 6>4 =GN ED54G, 4 ?>F>< 

6F> D<G => 6>L?< 6 =55. �5 6E5 E>6D5 <5= =O5 D4EF5-
=<O < 6<6>F =O5 =4EF>?L >> =5D47 DO6 => E6O 74 =O 
E 6>4 =>= EF< E< 5=, GF>5O ?>4D>5 => D4E E>4 7O 64FL 
> =<E 6 D4< >4E =4L5= >=<7<. �O >EF4 => 6<< EO 
F>?L >> =4 F5E, >F> <<55F >F=> L5 =<5 > =4L5= 
F5<5.

%D54< D4EF5 =<= MF> ?D56 45 6E57> 6>4> D>E?< 
< =5>> F> DO5 <>E> 6<4 =O5, ?4?> D>F =< >< < F65F >>-

6O5 D4EF5 =<O. &65F >> 6O5 D4EF5 =<O G4M5 6EFD5 G4-
NF EO 6 ?D5E =OE 6>44E. �=< <>7GF 5OFL ?>? =>-
EFLN ?>7DG 65 =O 6 6>4G, >4> 7=4 >> <O5 4>64 D<G <<-
EF4< D>7> ?<EF =<> < >45>< 54, <>7GF ?>4 =< <4FL EO 
=4 55 ?>65DE =>EFL, >4> ?>F>E <?< DOE>4, <?< 
E>EF4 6?OFL >>> ?> 6>4 =GN D4EF< F5?L =>EFL, >4> 
FD>EF =<>, D>7>7 <?< <4= 7D> 6O5 45D5 6LO. %4<>5 
D4E ?D> EFD4 =5= =>5 <>D E>>5 F65F >> 6>5 D4EF5-
=<5 4 7>EF5 D4.
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>?4E EO, >F DO 4O < E5 <5= EF64. �D> EF5= L<5 4 
<<> D> E>> ?< G5 E><5 >D 74 =<7 <O, 6< 6G M<5 < 6 ?D5E-
=OE, < 6 <>D E><E 6> 44E. � =<< >F => EOF EO 4<5 5O, 
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=> ??4 64 N M<5 (<5 4G 7O), >4< =>G =O5 (7<4-
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?>4 6<6 =O5 <>D E><5 6< 6>F =O5, ?> E> 6<5 
=4 <5 4G7, => ?< L5= =O5 EFD5 >4 F5?L =OE 
>?5 F>>. �4 E< 4O G<E >< L5G => ?> ?>EF =OE 
?> E> 6< D<?L FDG N M<5 6< 6>F =O5 4 
>5> ?>G =< ><.
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=<E 5EFL ?4 D4 7< FO, >5< F4 N M<5 
6 >< L5G =< >5 6< 6>F =OE (F5? =< < 

?5= F>G =O5 G5D 6<) 4 => <O >E F4 =>-
6<< EO =4 <>D E><E ??> E><E G5D 6OE, 
=4 ?> << =4 N M<E =4 DO4 =O5 ?5= FO. 
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G5D 6< 4 =5 <4 F> 4O, D>4 EF65= =O ?4 D4 7<-
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EOF EO ?D54 EF4 6< F5 ?< F< ?>6 D> D> =< 4O, 

??5 G5 => 7<5, ?> 7> => D> DO. � <> DOE < 
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7> ?> 6> => 7<5 <>? ?NE >< (>EL << => 7<, >4?L <4 DO, >4 D4 >4-

F< FO).
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>F DO 4O, ED5 4< >> F> DOE 

>D4 5O, D4><, >D5-
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%4<O= 6OE> >> >D 74 =< 7> 64= =O= F<? 6< 6>F =OE 4 
E>D 4> 6O5, 4 ED5 4< E>D 4> 6OE 4 ?>4 F<? ?> 76>-

=>G =O5 6< 6>F =O5. � ?> 76> =>G =O<, 6< 6G M<< 
6 6> 45 <?< F5E => E6O 74= =O< E 6>4 =>= EF< E< 5=, 
>F => EOF EO: ?D54 EF4 6< F5 ?< >?4E E4 >DG7 ?> D> FO5 
(<< => 7< < <<> E< =O); DO 5O, D47 45 ?5= =O5 =4 464 
>?4E E4 4 EDO M5 6O5 DO 5O  (4>G ?O < E>4 FO) < >>EF-

=O5 DO 5O (6E5 >E F4?L =O5 DO 5O); >?4EE 75< => 6>4-

 

>?4EE D5? F< ?<< <?< ?D5 E<O >4 N M< 5 EO (<>D E><5 

G5 D5 ?4 E<, >D> >> 4< ?O). � >?4E E5 ?F<F <=> 7<5 6< 4O, 
6> 4> ??4 64 N M<5 <?< DO 5> O4 =O5, F5E => E6O 74 =O E 
6>4 =>= ED5 4>=. %D5 4< <?5 >> ?< F4 N M<E ?> EF> O= => 
6< 6GF 6 6> 45, =5 6O E> 4O =4 EG LG, >< F> >5 D47 =O5 

(>< FO < 45 ?LD< =O) < E< D5 =O (?4 <4= F< =O < 4N 7>-

=<). �>?L LGN G4EFL 6<7 =< ?D> 6> 4OF 6 6> 45 ?4E F>-

=> 7<5 (FN ?5 =<), =5 >> F> DO5 7DO 7G =O (5>5 DO, =GF-

D<<), =4 E5 >> <> O4 =O5 (6O EG E>?L), E<M =O5 (6O 4D4, 

>4 ?4=); =5 D47 DO6 => E6O 74 =4 E >>54 =>< 6<7=L 55 ?>-

7> <54 65 4O, G ?D5E => 6>4 =OE 6> 4> 5<>6 4> 5O 64 NF 
E5 55 ?< MG =5 >> F> DO5 >557L O =O, >4 <O L> 6O= >>F, 

O7G 4D < 4D.
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�5D 6O5 DO 5O ?> O6< ?<EL 6 6> 44E 
�< D> 6> 7> >>5 4 =4 500 <?=. ?5F 
=4 744. �4 6EN E6>N <E F> D<N 
DO 5O =< >>7 44 =5 ?> >< 44-
?< 6>4 =GN ED5 4G. �> MF>-
<G 7DG? ?4, 6 >> F> DGN 
>=< 6E> 4OF, =4 7O 64-
5F EO ?5D  6<G =>-

6>4 =O5 ?> 76>-

=>G =O5 6< 6>F-
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$O 5O 5O ?< ?5D 6O << EG M5 EF 64 <<, G >> F> DOE 
>5 D4 7> 64? EO E>5 ?5F, F> 5EFL DO 5O 4 4D56 =5= L<5 
?> 76> =>G =O5 =4 �5< ?5. �> E> 6<5 =4 DO5 ?5D 6<G-
=> 6>4 =O5 ?> 76> =>G =O5 << => 7< < <<> E< =O =5 >F =>-
EOF EO > =44 >?4E EG DO5 < 6E> 4OF 6 >?4EE >DG7 ?> D>-

FO5. ' =<E E>5 ?5F =5 >>>E F5 =5 64 5F, 4 G5 ?NE F5= 
=5F 6> >5 M5. �> F< ?G E>5 ?5 F4 DO 5O 45 ?OF EO =4 464 
>?4E E4: EDO M5 6O5 DO 5O, G >> F> DOE E>5 ?5F EDO M5-
6>=, < >>EF =O5 DO 5O E >>EF =O< E>5 ?5 F><.

�E5 DO 5O E> ?>4 => >D>6 =O5 6< 6>F =O5, F> 
5EFL F5< ?5 D4 FG D4 <E F5 ?4 D46 =4 (<?< ?> GF< D46-
=4) F5< ?5 D4 FG D5 6> 4O, 6 >> F> D>= >=< >5< F4 NF. 
$O 5O 4O L4F ><E ?> D> 4><, D4EF 6> D5= =O< 6 6> 45, 
E ?> <>MLN >E> 5> 7> >D 74 =4 4O E4 =<O 4 645D. 
' DO5 5EFL 6E5 >E =>6 =O5 >D 74 =O, E6>= EF65= =O5 
?> 76> =>G =O< 6< 6>F =O<, 4 >D> 65 =>E =4O E<E F5-
<4, E5D4 F5, 65 ?G 4>>, ?>G ><, E5 ?5 75= >4 < F.4. �?4-
6G G5EFL DO 54< >55E ?5 G< 64 5F =4 ?>? =5= =O= 6>7 4G-
E>< ??4 64 F5?L =O= ?G 7ODL. �DG 7>5 G=< >4?L =>5 
?D< >5D5 F5 =<5 DO5 4 5> >> 64O ?< =<O 4 DO4 GG6-
EF6< F5?L =OE >D 74 =>6, ?> 76> ?O N M<E DO 55 G?46 ?<-
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64FL 46< 65 =<O 6 6> 45 < G?D46 ?OFL F5 ?><. $47 <=>-
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